=B R KPR

. EFEE CREL2 7y, kit 24 9))

JIREs 1 2 3 4 5 6 7 8 9 10 11 12
5|1 D C A A B A C B C D B C

TR (51 4, 3E10 4)
13 B4 R B REDD 150 B9 1658 TH 16
= 1@5%5@%%@ (2':@;:'\:5/]\5@, ;:I\:zoﬁj\)

17. 295 18. (37)) F

AT, NBPEL, FEDCEEE &1 ERELR, TURHE L)
CEEA8HE, IR k&5, Jr T IEM . 3 7/ i AT DL B A i D
19. (1) W 100 (2> #¥iL 3> B
20. (1) mEE () WE B (3 A WIAWHAMHT
21. (DB (2) EMEHEMEMEmRMEE (3) 2V B HERRHT 4 KiE
VO, TS (AREL2/ N, HE164))
22.f#: (1) HERM, SR
U 220V

e o YN 7S
R I, 25A (253

(2) JTHEThAE10mInHE FEM A
W=Uly=220Vx2.5Ax10x60s=3.3x105%  cceceeemeeeeen (2%

(3) MK, MBEITRHGN, B XBEDIRE, WX R B R . A
PUBR T RERS, I8 I A i BE A FEL

':Rjﬁ.@ =%=10A ------------------ (241
FHL P ) A FRL YA
Lw=lh+bL=10A+0.15A=10.15A (143
23fF: (1) PIMEAEE HOKTN . HETFR ARV =V, =Im x Imx Im=1m’
TR 55 K T I 52 B H9F ) Fle =048V =1x10°kg/m’® x ION/kg x Im* =1 x10* N e (249
(2) YMAM ERTEKTT F0.2mi, B0 N REALKFIRE A =1m+0.2m=1.2m
N R Z B K R p = pygh=1x10"kg/m’ x10N/kgx1.2m=1.2x10*Pa - —eeeeev (273
R R ZRKAE S Fe=pS =12x10°Pax(Imx1m)=1.2x10°N e (24%)
(3) YMAEMIE /) G =mg = py,gV,, 2.8x10°kg/m’ x x 3 X N comeeee (149
B s B == (O Fn)h_GoFy 28ON-LAO'N o 25

/A Fynh nfy, 3x7500N



	三模物理答案及评分标准

